Algebraic Fractions (Simplifying)

é\

REVISE THIS
I T

3a+9

1 Simplify fully 7+ 322

[2 marks]

A(a+3)
q*(a +3)

2
Answer a

2X2 — 2xy

Xy4 —y5

2 Simplify fully

[2 marks]

25 (x-Y)
y¥ (e -Y)

4
Answer 3

3b + b3

3 Simplify full
pity Tuly 4b2 + 12

[2 marks]

b(3+b)
G4(b*+3)

b
4

Answer —
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10n2 - 90

4 Simplify fully P

\o(n™9)

2n- )

Answer

N 4k? -1
S Simplify fully 5532

(2h+1) (k)

VRM(2k-1)

Answer

3 _
6 Simplify fully “ilTlggc

Le(ct-25)

4(c+5)

Answer

www. 1stclassmaths.com

[2 marks]

- 10(n+)Xn-])

70n-3)

S(n+ %) [_or Sn+ IS__l

[2 marks]

2k +\
Rt

[2 marks]

G (c+S)c-5)
4(c+9)

c(c-5)  [or-5c]
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2x2-32

7 Simplify fully 2+ 9%+ 20 [3 marks]
20c-16) . 2(x+w)lx=b)
(x +%)(x+5) (x+4%)(2¢+s)
2(x-4) l: 2x -3 1
Answer X+ OF "x+s
8 Simplify fully % [3 marks]
(a-S)a-€)
(a-6)(a—6)
a- S
Answer a-6
9 Simplify fully % [3 marks]
(y+2)(y—q)
Y+ y-a)
9+
Answer \3 *9
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9x2 — 25
10 Simplify fully —— 3 marks
Pty Tuly 3X2 + 14x+ 15 ! ]
('51* 9)(31-'5)

(3o S)ot+ 3)

x-S
Answer X+ 1

. 4y? -9
11 Simplify fully ———— [3 marks]
2y? — 11y + 12

(Ly+)2y-d)
( 1y -'S\(\d -4)

2y +3

Answer '5 4%

T N2+ 11n+ 24
12 Simplify fully ——————— 3 marks
Pty 1Ty 5n2 + 22n+ 21 [ ]

(n+8n+3)
(5n43F)Y(n+3)

n+%
Sn+F

Answer
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45 — 20x2

13 Simplify fully T Ex 3

S (9 - tx')
(2 ¥3(x+\ )

Answer

2
14 Simplify fully W

(Voer 1Y 0)
(et W eh )

Answer

2 _
15 Simplify fully %

2 (o=~ 100)
(65—5 )(ow+10)

Answer

S (2- w3 +)

(2e+3) o +1)

9(3- W)
A +\

x+ 6

l_}

Jz+|

\S-10

X+

2(x+10)(x-10)

(6x-5 Yo+l0)

Ae-10)
bx-§
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LAx-30

[3 marks]

|

[3 marks]

[3 marks]

x-S

]
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— 2
16 Show that 12x — 36 x XX 9+ 20 can be written in the form a+ <
X2 + 5X 3x-9 X
[4 marks]
where a and b are integers.
[2(x-3) (o + %) +5)
W (x+S) 2(x-7)
_ (=2 ruYa+9)
Bx(z+3)(X—17)
s 4 (e +4)
X
= l-l- x + | b
oC
= b+ 16
&
2 _
17 Show that (10x —35) + % can be written in the form ax +b
where a and b are integers. [4 marks]

S(2x-F)  2(x+w)x-Y4)
(Lx =3FY -4 )

= 0(Lo-PlrruXx-&)
(e P —-Y)

L0 (x +W)

= \ox + %o
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7
3. 3X+10x4 . X2 . . a
18 Show that  9X™3 x 9 —100 © 6x—20 can be written in the form
_ ) [4 marks]
where a is an integer.
q . xt(2x +10) XZ(Sx—lo)
> ( 35 +10)(3~i0) x*
- 18 x¥( ex 1)(2x-10)
x> (3x+10 X 3x—10)
= |9
X
19 2X — szj ;Xxi 3" ZX;_ L can be written in the form a;(x ++3b
where a and b are integers. Work out the values of a and b. [4 marks]
20 — x*(e =D  2x*-) | (2xtsex)-(1)
(23 Xx-1) x? x +
- 2x — 2x*— | - 2xt4+b6x -2xX 4|
x+3 x+73
= 2x(x+3)  2x*- | = bx+|
T+ o+ x+3
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